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Part 1. Question 1 to 10, you should choose the answer closest in meaning o the underlined word or phrase. One
answer only. 2 paints each.

1. Reparding the presidential campaign, he does not see eve to eye with his wife.

(A) have any affection for  (B) have any interest (C) agree with {1y show any passion as
2. He suffered a massive hemorrhage and was immediately sent to the hospital,

(A)scvere  (B)compact () eritical (D immense
3. A novel idea suddenly came to her mind, she immediately wenl to see her hoss.

LA} imaginary (B) new (C} developed (11 realistic
% The voters ppted for this presidential candidate because he promised to reduce taxes.
[A) chose () forpave {C) opposad (D) advacated

4. He was put through university with money left by his grandfather.
(4] was admitted to  (B) successfully finished  {C) gave a mission to {0V} carried a responsibility for
5. The lectures in our university are quite lihera and broad minded,
(&) preeminent {B) ohsessed {2} renowned (D) permissive
6. In Sense and Sensibility, one sister ends up ina happy marriage while the ather loses her first suiter and must
fall back on a boring alternative suitor,
{A} fail to accomplish  (B) slip and hit the ground (C) change seasons (1) accept a second chaice
8. University of California report warns that unless Ching radically changes its energy policies, its increnses in
greenhouse gases will be several times larger than the cuts in emissions being made by rich nations under the
Kyato Protocol,
iA) oil consumption (B} discharge of smoke {C) production of coal (1)) energy saving
9. As a spectator, it's quite easy to pick holes in other people’s work.
(A} come up with (B) keep pace with  (C) pet even with (I} find fault with
0. The students in our school are predominantly from the South,
Ay mogtly (B} scarcely {C) particularly {10} partially

Part I1. Question 11-15, please choose the answer that best completes the sentence. Question 16-25 vou should
choose the best answer to fill each of the numbered blanks in the passage. One answer only. 2 points for each,

The media [of an increasing number of surgical makeovers) says a lot about Korea's own 11 makeover,
Mot long ago, many people saw the country as a decidedly uncool industrial purk pumping cut cheap cars and
applisnces, But that started to change in the late 19908, when the Korean government decided that entertainment
could be an export industry. The film business in particular 12 government help and a big influx of
private capital. ..

The popularity of Korean stars is 13 Korean _ 14 features as a standard of beauty across the region,
Some sociologists see o subtext in the craze: a rebellion by Asian people against the images of Caucesian pood
looks that _ 15 much of the intemational trend.

11, (A) country (B) imapge (C) race (¥ medicine

12. (A) benefitted from  (B) inherited (C) messed up with (D) suffered from
13, (A) naturalizing (B} blurring () establishing ) diminishing
14, (A ethnic (B export [C) prominent 1% legendary
13, {A) export (B} in charge {) take over (1Y) dominate

Question 16 =15

The topic of thought is one area of psychology, and many observers have considered this aspect in connection
with robots and computers: Some of the old worries about Al tartificial intelligence) _ 16 the question of’
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whether computers could think.  The first massive electronic computers, capable of rapid (if often unreliable)
computation and little or no creative activity, were soon dubbed ‘electronic brains.” A reaction to this terminology
quickly followed. _ 17, computers were called ‘high-speed idiots,’ and effort to protect human vanity. In
such a climate, the possibility of computers actually _ 18 was rarely considered: It was bad enough that
computers might be capable of thought,

16, (A) link closely to {B) is linking closely o (C) have close linked (1) be closely linked
7. (A) Putting them in their place (B} They are in their place

(L} To put them in their place (D) With putting them in their place
18 (A) being alive (B could be alive () which alive [, are alive

Question 19-20

The average American produces about 20 tons of the major greenhouse pas carbon dioxide (C0O2) every year,
That might sound like a lot — and Americans do have among the biggest carbon footprints in the world — but the
entire world emits around 27 billion tons of CO2 cach year, _ 19 transportation, electricity use, deforestation,
Lok at those numbers for a moment, and you'll realize there's very little that any of us can da on an individual
level to stop climate change. Live like a monk, take away your 20 tons — stop breathing if you'd like — and
vouwll _ 20 scratch the surface.

19. (A} by (B) in {C) through (D) with
20.{Ajoften  (B)barely  (C)strongly (D)) constantly

Question 21-25

Why do Mickey Mouse, Ronald MeDonald, and Superman have _ 21 7 They are all easily identified and
powerful symbols of what some people call American *eultural imperialism.” Most Americans would be surprised
that these beloved cultural icons are often unwelcome by many overseas,

The eries of cultural imperialism are a _ 22 phenomenon, 23 western colonial empires in Asia,
Alrica and South America, nationalists in the newly independent countries often became outraged over the

staying power of calonial cultures. These nationalists named the presence and domination of Western culture as
‘cultural imperialism.’ Paul Harrison in his book, _ 24 | described it this way, “And so there grew up, alongside
political and sconomic imperialism, that more insidious form of control --- cultural imperdalism. It conguered not
just the bodies, _ 25 the souls of its victims,™

21, {A} in general {B) in this respect {C) in common (13} in short

21, (A) relatively recent (B) recently relative  (C) relative recent (D) recent relative

23 (A) In order shrink of (B} Shrinking of (C) Upon shrinking of (1)) With the shrinking of
24. (A) is called frside the Third Word (B) Inxide the Third World

(C) who writes Inside the Third World () that names fryide the Third World
25.(A)and (B)so (Clas (D)but

Part I1I. Reading Comprehension, In this part, you will read several passapes, Each one is followed by one

question or a number of questions about it (them), Guestion 26-40, you should choose the ONE best answer to
each question. 2 points each.

Why don't people consult an herbalist and take his advice instead? One reason is that only & few herbalists have
made a thorough analysis of herbal medicine. Most of the time, some herbalists don't know what makes up the
herhal medicine they are preseribing, It is not uncommon that some people, especially voung children, may suffer
great pain because the herbal medicine qualifications of some herbalists are sometimes called into question, Some
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of them have never received enough formal medical education. At best, they have just passed a test, which is
given to make sure that they know the names of centain herbal drugs and their composition; at worst, they are no
more than quacks. Finally, few large-scale experiments with herbal drugs are conducted.

Yet some people still ask herbalists for advice. They do so when doctors declare that no chemical medicine ean
treat & certain disense. Under the circumstances, people may gamble with their own lives, acting human guinea
pigs for herbalists.

26. According to this passage, people may take herbs like ginger for several reasons. Which of the following is
NOT one of them?

{#A) The herbs are cheap and easy to come by, () Their illness may not be serious enough
{C) The herbs may taste good () The herba may really help them recover

27, In this passage, three reasons are given to explain why people won't ga to see an herbalist. Which of the
flawing is NOT one of them?

{A) Qualification tests are not credible, (B} Herbalists are pootly educated

{C) Experiments are not widely conducted, 10} The components of herbal medicine are poisonous.

28, By saying “people may gamble with their own lives,” the authar suggests that itis  to ask an herbalist
for advice,

{A) sensitive {B) incvitable {Chrisky (D) expensive

28. According to this passage, people may o to see an herbalist when their illness is o
[A) unknown (1} incurable {C) infectious (I serious

In the past, writing was considered exclusive and time-consuming, The advent of the printing press popularized
the writlen word and ushered in the gradual rise in global literacy, The speed and legibility of writing was greatly
improved by the typewriter. But all of these were eclipsed when the personal compuler came of age &s the
standard tool for writing, But what new dimensions and drawbacks, if any, does it offer?

30. The expression *ushered in' is closest in meaning to 5
(4} hindered (B} instigated (Chprocured (D) harmonized

31 Which of the following could best replace the word *eclipsed™
(A)taken over  (B) redeemed {C) outshined 1) reproached

The rules of etiquette in American restaurants depend upon a number of factors: the physical location of the
restaurant, e.g., rural or urban; the type of restaurant, e.g., informal or formal; and certain standards that are mare
universal. In other words, some standards of etiqueite vary significantly while other standards apply almost
everywhere. Learning the proper etiquette in a particular type of restaurant in a particular area may sometimes
require instruction, but more commonly it simply requires sensitivity and experience. For example, while it is
acteptable wo read a magazine in a coffee shop, it is inappropriate to do the same in a more luxutous sefting, And,
if you are eating a very rustic setting, it may be fine to tuck your napkin into your shirt, but if you are eating ina
very rustic serting it may be fine 1o demonstrate a lack of manners. 11 s safe to say, however, that in virtually
cvery reslaurant it is unacceptable to indiseriminately throw your food on the floor. The conclusion we can most
likely draw from the above is that while the types and locations of restaurants determine etiquette appropriate to
them, some rules apply to all restaurants,
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32 With what topic is this passage primarily concerned?
{A) rules of etiquette (B} instructions in proper etiquette
(C) the impoertance of good manners (D} variable and universal standards of etiquette

33, According to the passage, which of the following is a universal rule of etiquette?
(A} tecking a napkin in your shirt (B not throwing food on the floor
(C) reading & magazine at a coffee shop (D) cating in rustic settings

Mow scientists are beginning to find that the most sexual part of the hwnan body is the brain and it is inherently
different in men and women. Scientific literature containg abundant evidence that males and females, even when
little boys and girls, fall into distinct behavioral stereotypes. But with the advent of ever more powerful brain
scanners, it seems these distinctions are the result of physical differcnces in the chemistry and neural cireuitry af
the brain that are laid dawn at hirth,

34, This passage might be from an article on
{A) Human Revalution {B) Men and Women: Minda Apart
(C) Difference in Sexuality berween Men and Women {1y The Newly developed brain scanner

35. “That men are hetter in target-directed motor skills, whereas women are stronger in precision manual tasks"
would be a good exampleof

{A) behavioral distinctions between males and females.

() the fact that brain is inherently different in men and women,

(C) culmral influences (1)) men being more capable than wofnen

British people have mixed opinions about the Americans, reflecting the close but sometimes troubled relationship
between the two nations. When people get to know Americans as individuals they have a lot more respect and
affections for them than the popular, rather negative stereotype based on a casual meeting or on television
programs might suggest. For many British people the T8 is associated with power in intemational politics,
Hallywood, money and violence. Although Americans belicve they rule the world, few of them know much about
anything outside the US. The British think that money matters more than anything else to Americans, and they
also think the US is a dangerous place where cannot walk in the streets or subways without fear of being attacked.
Despite this, many want to go there for their holidays. And Young people generally have a much more positive
attitude and love evervthing that comes out of America.

On the other hand, the US onee belonged to Britain, and many Americans have British ancestors, so when
Americans think of Britain, they think of a place that seems very familiar. Americans watch British television
programs, especially period dramas, see James Bond films, and read detective stories by Agatha Christie, On the
basis of these experiences, which are common even to people who are not of British origin, most Americans know
more about Britain than about any other county. However, many Americans would have difficulty drawing map of
Britain, They think the country consists of London end a village in Scotland where one of their ancestors came
from, Every British has a servant and has great respect to the Queen. Americans admire the behavior of the British
believing that they are quaint, although they themselves would never want all their social rules. British people, to
them, are perfectly polite and proper, always knowing which knife and fork to use, saying “please™ and “Excuse
me.” However, they are often conceived as being snobbish and do not seem friendly. The famous British reserve
seems cold to Americans who are more used to an apen enthusiastic way of communicating. Thus a result, when
Hritish say: “That's no problem” when they know that it will be a big problem, it confuses the Americans.

36, What might be a proper title for this reading?
A) What British people think of Americans, {B) What Americans think of British people.
{C) Great Britain, the ancestors of the Americans, (1)) Cultural stereotypes. k
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37. What do British usually think of Americans?
{A) They have mixed feelings, (B) They feel indifferent.
{C) They never want to have any association with American, (D) They admire evervthing that is Americ;

38. Which of the following is true about the US from British perspective?
(4) Most Americans know a lot about the world outside the US.
(B) Few Americans know a lot about the world outside the US,
[C) Americans value power more than anything else.
(D) The US subway is the only public transportation available,

39, When Americans think of Britain, what do they usually feel?
{A) They feel indifferent, (B) They feel annoved,
{C) They feel familiar. 1)) They never want to be associated with Britain,

40, According o the reading, which of the following is true?
{A) American can easily draw a British map,
{B) Many Americans watch British television programs,
{C) Americans never wanted to be associated with Britain because they once belonged to Britain,
{1} Americans think only the British movic stars can have servants,

Part IV. Essay. 20 points.
Please write a well-structured essay in 150 to 200 words on the fallowing topic:

As a global citizen, what do you think your responsibilities and rights are supposed 1o be? Please use
examples to support your statements,
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Which of the following is true of systematic error?
(1) systematic ervor significantly lowers the reliability of a measure
(2) systernatic error insignificantly lowers the reliability of a measure
(3) systematic etror increases the reliability of a measure
(4) systematic ervor has no effect on the reliability of a measure

Suppose that a student gests a score of 80% on an exam  This student has dane
(1) better than 80 percent of the norm group
(2} worse than 80 percent of the norm group
(3) about the same as the notm group
(4) none of the ahove

Percentile scores have one major drawback:
(1) they are difficult for most persons to comprehend
(2} they often sum to more than 100 percent
(3) they distort the underlying measurement scale
(4) an examinee’s percentile scors fluctuates significantly

A third grade student’s score on a standardized math test has a grade equivalent of 5 0
This student

(1) has the same mathematics ability as the average 5th grade student in her school
(2) should be enrolled in a 4th grade math class at least

(3) earned a score that a typical 5tk grader would be expected to earn on this test

(4} none of the above

Almost all theories of reliability assume that

(1) people do not differ in levels of a given characteristic

(2) test scores changes over time

{3) test scores do not change over time

{4) test scores are inflnenced by consistency and inconsistency

Test-retest reliability estimates wouid be least appropriate for:

(1 IQ tests

(2) tests that measure moment-to moment moods

(3) academic achievement tests on topics, such as ancient history
(4) tests that measure art aptitude

The reliability of a speed test should be based on the
(1) test-retest method

(2) reaction time method

(3) screening method

(4) internal consistency method

The process of construct explication involves

(1) identifying behaviors related to the construct you wish to measure

(2) determining whether behaviors related to similar constructs as the one you wigh to measure
are related to the construct you are interested in

(3) identifying similar constructs and determining the relationships betwesn these constructs
and the construct you are intezested in

(4} all of the gbove

%9 R
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Which of the following assessment techniGues has the highest degree of validity from the
examines’s perspective?
(1) asking examinees to tell what they see in inkblots for the purpose of personality analysis
(2} administering a word processing test to a person applying to be a word Processor
(3} asking examinees to draw a picture of their family to assess family relationships
(4) measuring the height of applicants o a police academy

In a 50-itern muliiple choice test with four choices pet item, what would be the corrected score

for an examinee who answered 32 items correctly, answered 9 Hems incorrectly, and left 9
items blank?

132
(2)29
(3)26
(4) 23

Which approach to test development is most compatible with computerized testing?
(1) classical test theory

(2) genezalizability theory

(3) latent trait theary

(4) stability theory

Suppose a test developer using the criterion-keyed approach finds that the itemn 1 like to read
technical blueprints” (answered false) is assigned to the depression scale What should the test
developet do?

(1} search for a theoretical link between depression and blueprint reading
{2) discard the item because most likely it is an anomalous happening
(3) keep the item on the scale
{4) none of the above

The distinction between aptitude tests and achieverent tests is based largely upon
{1) usage

(2) content

(3) format

(4) difficulty

If an jtem characteristic curve has a steep upward slope, this indicates that
(1) people who did well on the test are less likely to do well on this particular item
(2) people who did well on the test are much maore likely to answer the item correctly
(3) an item bas negative discriminating power ‘
(4} there is a weak relationship between test scores and responses to the particular item
illustrated in the graph

Which MMPI-2 scale was designed to detect a subtle form of defensiveness?
(1L or Lie

(2) T or Frequency

(3) K or Correction

(4) ? o1 Cannot Say

Scale seores on the Edwards Personal Preference Scale are designed to be
(1) normative

(2) ipsative
(3) criterion-related
{4) noue of the above

%48
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L. The overprotective mother who cannot allow into consciousness any hostility toward her
children is using the defense mechanism of
A) denial,
B} rativnalization.
- ) reaction formation,
3} sublimation.

2. Individuals seoring high on narcissism have boen found to demonstrate a
A) discomfort in front of mirrors.
B) discomfort on the stage,
C) self-debasement bias,
0} self-enhancement bias,

3. For Rogers, the basis for the denial of experience iy
A) imposition of conditions of worth,
B early irauma,
C) fixation and regression.
13} all of'the above.

4. Kurt Goldstein believed that the main motive for people is
A) conditions of worth.
B} pleasure.
C) self-actualization,
D) tension reduction.

5. Concerning the number of basic trait factors,
A) five is just ahout right,
B} some suggest more and some suggest fewer,
C) ultimately fuctor analysis will tell us exactly how many is best,
D} it all depends on the subject being studied,

. The learning theory account for peychotherapy is that individuals are not mentally sick, but
rather

A) they are mentally i1,

B) they have failed to leam a response of they have learned a maladaptive response,
C) they ave physically sick.

D) they suffer from stimulus generalization and response constriction.

7. Early reports of the continued improvement of patients treated with ayatematic
desensitization challenged the psvchoanalytic concept of
A) penis envy,
B} id, ego, superego.
C) Symptom substitution,
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D) The importance of transference.

#. Paviov found that the failure to distinguish between the circle and ellipse as CS resulted in
A) uleers.
B} Experimental neurosis.
C) Experimental paychosis,
D) leamned helplessness.

9. In observational leamning, a eritical distinction is made between
A) acquisition and performance.
B} acquisition and memary,
C) memory and performance.
Dy All of the above,

10, According to Bandura, a person will try harder if
A} they see a more compelent person succeed.
B) they see a model punished,
C) perceived self-efficecy sugpests a chance for success.
D) Al of the above,

11. Onee having developed a self-schema as o failure, the person might
A) deny failure.
B} envy success in others,
C) strive to suceeed.
1) strive to fail.

12. Lazarus' concept of secondary appraisal is similar to
A} Freud's superego.
B) Bandura's self-efficacy concept.
C) Ropers' sell-actualization motive.
[ Beck's cognitive triad.
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